
ægu/ ;kmf /fVff}+, xl/ofnL a9fcf}+, /f]kf}+ ;a}n] la?jf 
;d[4, :jf:Yo, ;kmf / jftfj/l0fo b[li6n] ;'/lIft Og?jfÆ 

 

Og?jf gu/kflnsf sfof{noåf/f k|jfx ul/g] ;]jf ;DaGwdf 
gu/jf;Lx?sf] gfddf hf/L ul/Psf] gful/s j*fkq 

qm=;+= ;]jfsf] ljj/0f ;]jf k|fKt ug{ k]z ug'{kg{] sfuh tyf ljj/0f 
;]jf k|fKt ug{ nfUg] ;]jf lbg] 

zfvf÷pkzfvf 
s}= 

z'Ns ;do 
1=  gful/stf 

l;kmf/L; 
afa'sf] gful/stfsf] k|ltlnlk, hGdbtf{sf] k|df)f, laaflxt 
dlxnfsf] xsdf laafx btf{sf] k|df)f, u}/ gu/jf;Lsf] 
xsdf a;fO;/fO ;DaGwL k|df)fkq tyf gkf sf] s/ tyf 
/fhZj r'Qm k|df)fkq ;lxt ;Dalwt j*f ;lrjsf] 
l;kmfl/; 

?= 100.00 
c+uLs[t ?= 200.00 

1 lbg ;DalGwt j*f 
;lrj, k|zf;g 

zfvf 

 

2=  hGd btf{ ;"rssf] gful/stfsf] k|ltlnlk ;lxt :jo+sf] pkl:ylt, 
hGd k|dfl)ft sfuh jf lrgf, hGd s')*nL 

hGd ePsf] 35 lbg leq 
lgz'Ns 

1 lbg kl~hs/)f zfvf  

3=  ljjfx btf{ klt, kTgL b'j}sf] gful/stfsf] k|ltlnlk ;lxt :jodsf] 
pkl:ytL 

ljjfx ePsf] 35 lbg 
leq lgz'Ns 

1 lbg kl~hs/)f zfvf  

4=  d[To' btf{ d[ts tyf ;"rssf] gful/stfsf] k|ltlnlt, c:ktfndf 
d[To' ePsf] eP ;f] sf] k|df)f, j*f ;lrjsf] l;kmfl/; 

d[To' ePsf] 35 lbg leq 
lgz'Ns 

1 lbg kl~hs/)f zfvf  

5=  a;fO{ ;/fO{ a;fO{ ;/L cfPsf] jf uPsf] k|df)f, gul/stfsf] k|ltlnlk  a;fO{;/fO{ ePsf] 35 
lbg leq lgz'Ns 

1 lbg kl~hs/)f zfvf  

6=  ;DaGw ljR%]b ;DaGw ljR%]b ;Dagwdf clwsf/ k|fKt lgsfosf] 
cflwsfl/s k|df)f, gful/stfsf] k|ltlnlk, 

;DaGw ljR%]b ePsf] 
35 lbg leq lgz'Ns 

1 lbg kl~hs/)f zfvf  



qm=;+= ;]jfsf] ljj/0f ;]jf k|fKt ug{ k]z ug'{kg{] sfuh tyf ljj/0f 
;]jf k|fKt ug{ nfUg] ;]jf lbg] 

zfvf÷pkzfvf 
s}= 

z'Ns ;do 
7=  hGd ldlt 

k|dfl)ft 
gful/stf jf hGdldlt v'Ng] k|df)f sfuhftsf] k|ltlnlk, 
;DalGwt j*f ;lrjsf] l;kmf/L; 

g]kfnL ?= 100.00 
c+u|]hL ?= 700.00 

1 lbg k|zf;g zfvf  

8=  laB't h*fg 
l;kmf/L; 

gful/stfsf] k|ltlnlk, #/ tyf hUuf sf] :jfldTj 
;DaGwL k|df)fkq 
#/ gS;fsf] Ohfhtsf] k|ltlnlk, Plss[t ;DklQ s/ 
lt/]sf] /l;bsf] k|ltlnlk, ;DalGwt j*f ;lrjsf] l;kmf/L: 

250.00 1 lbg of]hgf zfvf  

9=  pBf]u :yfkgf 
l;kmf/L; 

gful/stfsf] k|ltlnlk, axfndf eP #/ jf hUuf 
wgL;+usf] ;Demf}tf, ;+lwof/x?sf] ;xdlt ;lxtsf] 
;/hldg d'r'Nsf, cfjZostfsf] cfwf/df IEE jf EIA 

;DaGwL ;"rgfsf] k|ltlnlk jf ;f] sf] k|ltj]bg  
 

;fgf ?= 500.00 
demf}nf ?= 800.00 
&'nf] ?= 2000.00 

2 lbg k|zf;g zfvf  

10=  gfd, y/ ;+;f]wg 
l;kmf/L; 

gful/stfsf] k|ltlnlk, gfd,y/ km/s k/]sf] sfuhsf] 
k|ltlnlk 

?= 100.00 1 lbg k|zf;g zfvf  

11=  gftf k|dfl)ft d[ts tyf lgj]bssf] gful/stfsf] k|ltlnlk, d[To'btf{ 
k|df)f kq, lgj]bssf] / cGo k|To]s gft]bf/x?sf] 2 k|lt 
kmf]^f], j*f ;lrjaf^ a'lemPsf] ;h{ldg 

g]kfnL ?= 250.00 
c+u|]hL ?= 700.00 

1 lbg ;DalGwt j*f 
;lrj, k|zf;g 

zfvf 

 

12=  rl/q k|df)f gful/stfsf] k|ltlnlk, j*f ;lrjsf] ;/hldg l;kmfl/; ?= 100.00 1 lbg ;DalGwt j*f 
;lrj, k|zf;g 

zfvf 

 

13=  ljjfx k|dfl)ft-

2036 ;fn eGbf 
cuf*Lsf] xsdf_ 

klt, kTgLsf] gful/stfsf] k|ltlnlk, j*f ;lrjsf] ;h{ldg 
l;kmfl/; 

g]kfnL ?= 100.00 
c+u|]hL ?= 700.00 

1 lbg ;DalGwt j*f 
;lrj, k|zf;g 

 



qm=;+= ;]jfsf] ljj/0f ;]jf k|fKt ug{ k]z ug'{kg{] sfuh tyf ljj/0f 
;]jf k|fKt ug{ nfUg] ;]jf lbg] 

zfvf÷pkzfvf 
s}= 

z'Ns ;do 
zfvf 

14=  :yfoL a;f]af; 
l;kmf/L; 

gful/stfsf] k|ltlnlk, j*f ;lrjsf] \sf] l;kmfl/; ?= 100.00 1 lbg ;DalGwt j*f 
;lrj, k|zf;g 

zfvf 

 

15=  rf}xbL -
rf/lsNnf_ 
k|dfl)ft 

gful/stfsf] k|ltlnlk, nfnk'hf{sf] k|ltlnlk, gfkLgS;fsf] 
k|ltlnlk, xfn;fn} vl/b u/]sf] eP /fhLgfdfsf] lnvt, 
Plss[t ;DklQ s/ lt/]sf] /l;b , j*f ;lrjsf] ;h{ldg 
l;kmf/L; 

 j*f g+= 1, 2, 3, 5 / 
9 k|lt lsQf ?= 
250.00 

 j*f g+= 6 / 7 k|lt 
lsQf ?= 200.00 

 j*f g+= 4, 8, 10 / 
3v k|lt lsQf ?= 
150.00 

1 lbg ;DalGwt j*f 
;lrj, k|zf;g 

zfvf 

 

16=  x}l;ot k|dfl)ft gful/stfsf] k|ltlnlk, ;Dklt tyf cfo>f]t ;DjGwL 
ljj/)fx?sf] cflwsfl/s k|df)f , ;DalGwt j*f 
;lrjsf] ;h{ldg l;kmf/L; 

d'Nof+sgsf] cfwf/df 1 lbg ;DalGwt j*f 
;lrj, k|zf;g 

zfvf 

 

17=  hUufwgL 
k|df)fkqsf] 
k|ltlnlk l;kmf/L; 

gful/stfsf] k|ltlnlk, ;DalGwt j*f ;lrj ;h{ldg 
d'r'Nsf ;lxtsf] l;kmfl/;, Plss[t ;DklQ s/ lt/]sf] 
/l;b 
 

?= 100.00 1 lbg ;DalGwt j*f 
;lrj, k|zf;g 

zfvf 

 

18=  cljjflxt 
l;kmf/L; 

gful/stfsf] k|ltlnlk, j*f ;lrjsf[ ;h{ldg d'r'Nsf 
;lxtsf] l;kmfl/;  

g]kfnL ?= 100.00 
c+u|]hL ?= 700.00 

1 lbg ;DalGwt j*f 
;lrj, k|zf;g 

 



qm=;+= ;]jfsf] ljj/0f ;]jf k|fKt ug{ k]z ug'{kg{] sfuh tyf ljj/0f 
;]jf k|fKt ug{ nfUg] ;]jf lbg] 

zfvf÷pkzfvf 
s}= 

z'Ns ;do 
zfvf 

19=  %fqa[lt l;kmf/L; gful/stfsf] k|ltlnlk, cWoog/t ;+:yfsf] k|df)f, j*f 
;lrjsf] l;kmfl/; 

?= 100.00 1 lbg ;DalGwt j*f 
;lrj, k|zf;g 

zfvf 

 

20=  hUuf gfd;f/L 
l;kmf/L; 

gful/stfsf] k|ltlnlk -gfjfnssf] xsdf hGd btf{ _, 
gftf k|df)fLt, nfnk'hf{sf] k|ltlnlk, s/ r'Qmf k|df)fkqsf] 
k|ltlnlk, Plss[t ;DklQ s/ lt/]sf] /l;b, ;DalGwt j*f 
;lrjsf] ;h{ldg ;lxtsf] l;kmf/L; 

?= 250.00 1 lbg ;DalGwt j*f 
;lrj, k|zf;g 

zfvf 

 

21=  ;fdflhs ;'/Iff 
eQf sf*{ 

gful/stfsf] k|ltlnlk, Psn dlxnfsf] nflu >Ldfg sf] 
d[To"sf] k|df)fkq, b'O{ k|lt kmf]^f] 
 

lgMz'Ns 1 lbg ;fd'bflos ljsf; 
zfvf 

 

22=  #/af^f] k|df)fLt 
l;kmf/L; 

;/f]sf/jfnfsf] gf=k|=k= , hUufsf] ;Ssn gfkL gS;f, 
Plss[t ;DklQ s/ lt/]sf] /;Lb, #/ ePsf] eP ;f] sf] 
k|df)f, ;DalGwt j*f ;lrjsf] ;h{ldg ;lxtsf] l;kmf/L; 
 

 lkr af^f]n] %f]Psf] 
k|lt lsQf ?= 
700.00 

 u|fe]n af^f]n] %f]Psf] 
k|lt lsQf ?= 500.00 

 sRrL af^f]n] %f]Psf] 
k|lt lsQf ?= 
350.00 

 af^f] gePsf] k|lt 
lsQf ?= 250.00 

1 lbg ;DalGwt j*f 
;lrj, k|zf;g 

zfvf 

 



qm=;+= ;]jfsf] ljj/0f ;]jf k|fKt ug{ k]z ug'{kg{] sfuh tyf ljj/0f 
;]jf k|fKt ug{ nfUg] ;]jf lbg] 

zfvf÷pkzfvf 
s}= 

z'Ns ;do 
23=  gS;f btf{ tyf 

l:js[tL 
gful/stfsf] k|ltlnlk, nfnk'hf{sf] k|ltlnlk, Plss[t 
;DklQ s/ lt/]sf] /;Lb, ;Ssn gfkL gS;f, k]z u/LPsf] 
#/ gS;fsf] An' lk|G^ yfg – 4 

lgdf{)f sfo{sf] k|s[ltsf] 
cfwf/df 

21 
b]lv 
25 
lbg 

#/ gS;f pkzfvf  

24=  gS;f gfd;f/L ;+o"Qm lgj]bg, gful/stfsf] k|ltlnlk, lnvtsf] k|ltlnlk  :jR%fn] ljqmL u/]df 
k|lt ju{lkm^ ?= 2.00 

 c+za)*f e} cfPsf] 
;+/rgfsf] gS;f 
gfd;f/L k|lt au{lkm^ 
?= 1.50 

 #/ hUufwgLsf] d[To' 
eO{ gfd;f/L ePdf 
k|lt au{lkm^ ?= 0.75 

1 lbg #/ gS;f pkzfvf  

25=  ;jf/L btf{ oftfoft Joj:yf sfof{noaf^ k|fKt ;jf/L btf{ k|df)fkq, 
gful/stfsf] k|df)f kqsf] k|ltlnlk 

lgodfg';f/ 1 lbg /fhZj zfvf  

26=  Joj;fo btf{ Joj;foLsf] gful/stfsf] k|ltlnlk, ;DalGwt lgsfosf] 
Ohfht k|df)f b'O{ k|lt kmf]^f] 

lgodfg';f/ 1 lbg /fhZj zfvf  

27=  cGo l;kmf/L; gful/stf k|df)f kqsf] k|ltlnlk, cGo cfjZos 
sfuhft, ;DalGwt j*f ;lrjsf] l;kmf/L; 

lgodfg';f/ 1 lbg ;DalGwt j*f 
;lrj, k|zf;g 

zfvf 

 

28=  df]xL nut s^\^f hUufwgL k|df)f k'hf{, Plss[t ;DklQ s/ lt/]sf] /l;b,  1 s&\&f b]lv 5 1 lbg ;DalGwt j*f  



qm=;+= ;]jfsf] ljj/0f ;]jf k|fKt ug{ k]z ug'{kg{] sfuh tyf ljj/0f 
;]jf k|fKt ug{ nfUg] ;]jf lbg] 

zfvf÷pkzfvf 
s}= 

z'Ns ;do 
l;kmf/L; df]xL hUufwgL ;DaGwL cfjZos k|df)f kq, cGo 

cfjZos sfuhft, ;DalGwt j*f ;lrjsf] l;kmf/L; 
s&\&f ;Dd ?= 
500.00 

 5 s&\&f eGbf dfyL 
?= 1200.00 

;lrj, k|zf;g 
zfvf 

29=  df]xL gfd;f/L hUufwgL k|df)f k'hf{, Plss[t ;DklQ s/ lt/]sf] /l;b, 
df]xL hUufwgL ;DaGwL cfjZos k|df)f kq, cGo 
cfjZos sfuhft, ;DalGwt j*f ;lrjsf] l;kmf/L; 

?= 350.00 1 lbg ;DalGwt j*f 
;lrj, k|zf;g 

zfvf 

 

30=  cldg v^fpg] hUufwgL k|df)f k'hf{, Plss[t ;DklQ s/ lt/]sf] /l;b, 
hUufsf] ;Ssn gfkL gS;f 

 0 b]lv 5 s&\&f ;Dd 
?= 1000.00 

 5 s&\&f eGbf dfyL 
;j}df ?= 1500.00 

3 lbg 
leq 

#/ gS;f pkzfvf  

gf]6 M 
1= ;h{ldg l;kmf/L; u/]df dfly pNn]v ePsf b//]^ b]lv afx]s ;h{ldg b:t'/ ?= 200.00, lgj]bg kmf/fdsf] ?= 10.00 / btf{ b:t'/ ?= 
 10.00 nfUg]% . 
2= ;]jf k|jfx ubf{ btf{sf] qmdfg';f/ k|fyldstf lbO{ ;Dkfbg ul/g] / lgwf{l/t ;do l;df ;fdfGo cj:yfsf] xsdf dfq nfu' x'g]% t/ 
 czQm,c;xfo Pj+ a[$x?nfO{ klxnf] k|fyldstf lbOg]% . pk/f]Qmfg';f/sf] ;]jf k|jfxdf s'g} u'gf;f] jf ph'/L eP sfof{noaf^ u'gf;f] ;'Gg] 
 clwsf/Lsf] ?kdf tf]lsPsf kbflwsf/L ;dIf ph'/L ug{ ;lsg]% . 


